ANSWERS
Maénua: AIFTAIKA

Huepopnvia: Zapparo, 27 ZemrepBpiou 2008

PART I: COMPOSITION (40 MARKS)
Write a composition of about 200 - 250 words on the following topic.

Suggest three (3) ways to reduce traffic accidents in Cyprus.

PART Il: READING COMPREHENSION (30 MARKS)

A. Choose the best answer a, b, ¢ or d according to the text.
(5 x 3 = 15 marks)

1. The author suggests that ..... to see the effect of motor vehicles on our
cities.
c. no one fails

2. In pedestrianised areas, the problem in the evenings is that ....
b. people are worried about being there.

3. There isn't a wide variety of shops in pedestrianised zones because ...
b. most shopkeepers can’t pay the rent there.

4. Delivery truck drivers and disabled people both need .....
a. to be able to get into pedestrian zones easily.

5. The author believes it is important for any part of the city to have .....
d. people living there.

B. Answer the following questions according to the text. (3 x 3 = 9 marks)

1. Write down three (3) things which affect our hearing and are the result of
heavy ftraffic.
1. loud engines 2. noisy brakes 3. horns
2. List three (3) positive effects of pedestrianisation. (any three)
1. increase in business 2. more pedestrian shoppers
3. shoppers free to wander 4. tourist numbers are increasing
3. Mention three (3) attractions that should exist in pedestrianised zones.

1. bars 2. cinemas 3. theatres 4. art galleries (any three)



C. Choose the best answer a, b or ¢ to explain the words.

They are in bold in the text.

1.

2.

gigantic
apparent

deserted

. major

links

vital

PART lll: USE OF ENGLISH

a.

C.

b.

(6 x 1 = 6 marks)
huge
obvious
empty
main
connections

essential

(30 MARKS)

A. Complete the second sentence so that it has a similar meaning to the
first sentence. Use the word in bold and other words to complete

each sentence. Do not change the words given.

(5 x 2 = 10 marks)

The bus ticket was not as/so expensive as | expected.

When did you start riding a bike?

He succeeded in selling his old bicycle.

Mum asked me if | had locked the car.

It is not warm enough to drive a convertible.

which
of
have
to
and

2.
3.
4.
5.

B
space.
1. a.
2. b.
3. b.
4. c.
5. a.

C

given in capitals in brackets.

S

exciting
imagination
powerful
envious
reality

. Fill in the gaps in the following text

Comw~No
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they
blocked
such
at
lanes
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. Read the text below and decide which answer a, b or ¢ best fits each
(10 x 1 =

10 marks)

with the correct form of the words

(10 x 1 = 10 marks)

financial
choice
easy
comfortable
safety



